
*OPTION #2 - GENESIS 2:18-24

6 _RNQV[T S_\Z aUR 7\\X \S =R[R`V` 

H\ aUR B\_Q =\Q S\_ZRQ \ba \S aUR T_\b[Q 
cN_V\b` dVYQ N[VZNY` N[Q cN_V\b` OV_Q` \S aUR NV_& 

N[Q UR O_\bTUa aURZ a\ aUR ZN[  
a\ ̀ RR dUNa UR d\bYQ PNYY aURZ4 

dUNaRcR_ aUR ZN[ PNYYRQ RNPU \S aURZ d\bYQ OR Va` [NZR( 

IUR ZN[ TNcR [NZR` a\ NYY aUR PNaaYR& 

NYY aUR OV_Q` \S aUR NV_& N[Q NYY dVYQ N[VZNY`4 

Oba [\[R ]_\cRQ a\ OR aUR ̀ bVaNOYR ]N_a[R_ S\_ aUR ZN[( 
H\ aUR B\_Q =\Q PN`a N QRR] ̀ YRR] \[ aUR ZN[& 

N[Q dUVYR UR dN` N`YRR]& UR a\\X \ba \[R \S UV` _VO`  

N[Q PY\`RQ b] Va` ]YNPR dVaU SYR`U( 
IUR B\_Q =\Q aUR[ ObVYa b] V[a\ N d\ZN[ aUR _VO 

aUNa UR UNQ aNXR[ S_\Z aUR ZN[( 

KUR[ UR O_\bTUa UR_ a\ aUR ZN[& aUR ZN[ ̀ NVQ3 

N[Q SYR`U \S Zf SYR`U4 

IUNa V` dUf N ZN[ YRNcR` UV` SNaUR_ N[Q Z\aUR_ 

N[Q PYV[T` a\ UV` dVSR& 

N[Q aUR ad\ \S aURZ ORP\ZR \[R O\Qf( 

IUR d\_Q \S aUR B\_Q( 


